
Content

Necessities

ExplanationWhen not placed yet: Place 
floor rubbers underneath the 
foot plate.

Fit foot plate on flat side tube; 
Use M6 x 16.

Optional: Guide power cable 
through hole in casing and 
tube to bottom. 

Place tablet and fit front part  of 
the casing over the rear part. 
Press tablet onto cell rubbers. 

Position tablet into casing 
without reducing the pressure 
on the tablet

Close the casing with screws; 
Use M6 x 10. And/or close 
with an additional key lock

NOTE: Use a soft 
underlayment during 

assembly to avoid damage 

Before you start  Determine and fix cell rubbers position with tablet in the exact middle of the casing.  
(For reference See manual - Securo Fixing the rubbers)

1 2 3

4 5 6

Desk stand
Nuvola

7

2x M6x16 2x M6x16 1 Foot plate 1 Tube 

1 front casing 1 rear casing Rubbers for casing 

Fit  the rear of the casing on 
upper or lower holes in the tilt 
unit; Use M6 x 16. 


